| abed

ojseq) |9p |elo]

00°0$ 00°0$ 00°0$ 00°0$ 00°0$ 00°0$ S@.I01BjUE SB|EISY SODIDIB[E Bp SOpnapyY
saloLI9)ue s9jeds|y soidldiala ap sopnapy
00°0% 00°0% 00°0% 00°0% 000$ 00°0$ 1 saJ0peuloye A salopnap e soAode 0 epnap ‘0Jajoueul 0}s0)
eoue(q e| 9p saioperioye
K saiopnap e sofode o epnap ‘oialdueuly 0}so)
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ soidiolunw A seajeiopa) sapephus e sauoioedioied
soidigiunw A seAnjeiapay) sapepiua e sauoidedidied
000$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ opezjjelspa ojsed
opezijelapad ojses) ap seweliboid
00°0$ 00°0$ 00°0% 000$ 00'0$ 00°0$ Joisuad ap einjonuisaal A ugisianul ap sopuoy e sauoioeuody
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ UQIoBZI|Iqe)SS 3P SOpUO} B sauopepody
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ [e100s pepunBas e| e ssuopeuody
00°0$ 00°0$ 00°0$ 00°0$ 00°0% 00°0$ sauoioeyignf A sauoisuad
sauoloebilqo
00°0$ 00°0$ 00°0% 00°0$ 00°0% 00°0$ s9jelnjeN sansesaqg
00°0$ 00°0$ 00°0$ 00°0$ 00'0$ 00°0$ [euoIpsUN[ ugNjosal ap ojusiwidwnd ap sauoloebliqo
sosjwoidwo)n
00°0$ 00°0$ 00°0$ 00°0$ 00°0% 00°0$ seusle sauojoesadQ
00'0$ 00°0$ 00'0$ 00°0$ 00'0$ 00'0$ uonsab e| op ojusiwesofow |e A ealand ugiouny e| e okody
00°0$ 000$ 00°0$ 000$ 00'0$ 00°0$ e1oualys e| Jelofow eled A oueysandnsaid osaooud e okody
ofody ap A soAnensiuiwpy
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ UQIsIaAU| 3p sojakold
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ sooyloadsy
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ 4 0uJBIqOD) SJUBWIEDIUN)) SEPBULY SBZISN SE| 9P Sauolung
00°0$ 00°0$ 00°0$ 00°0$ 00°0% 00°0$ uoisinsadns A ugpeinbay
19°€6.'73€'G8$ G0'68C°6€6°CLS G0'682'6€6°€L$ 99'280'¥2€'66$ 99'¥96'61€°2$ 00'811°¥00°L6$ ojuawoy A ugowold
00°0$ 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ seoljqnd seanjjod ap ugloen|eas A ojusiwinbes ‘ugesue|d
00°0% 00'0$ 00°0$ 00'0$ 00'0$ 00°0$ $021|qnd sauslg ap ugisinoid
00°0$ 00°0$ 00°0% 00°0$ 00°0$ 00°0$ $021|qNd SORIAISS 3p ugloe)sald
sauojoung se| ap ouadwesag
00°0$ 00°0$ 00°0$ 00°0$ 00°0% 00°0$ solpisgng sos0
00°000'0L1$ 00°0$ 00°0$ 00°000'0L1$ 00°000°0LL$ 00°0$ uoeladQ op se|bay e sojeling
soididunyy A seajesapaq
sapepiug o opeAlld A [e190S 103298 :solpisqng
seweiboid
(p-¢)=9 5 v (z+1)=¢ [4 ' o)dasuon
(sauol12onpay)
oid1ol8fogng opebed opebuanag opesyIpoN | sauoideldwy opeqoidy
sosaibg
‘wdeL:zo |ugisaidwi ap eioy 0d_sosaibgojsendnsaidopeisTidi :dey

0202/ Mou/y0 [ A eyos4

0z0z/'unljog IV 020Z/'19e/L0 190

eoijeweibo.ld euobajes lod ojseo

ayosadwen ap opejs3

ayoaduwen ap opejs3 |op auodaq [ap olnyIsu|

Josiniadns tusn




Z abegq

IVH3INTO J0AVLINOD

VHVINYO VZIHdNL NvAV NvIgvd 'd'D

SVYZNVNId A NOWAY 3d vd40L03dIa TvH3NTO HOLOINIA
ZAIVZNOD ZILHO YNI13 VNVl 'V OYILNON OAVLdNH SOTHYD IDHOI "DV
f\!\VV\\
A ——
seweiboid
(sauol12onpay)
oid1ol8fogng opebed opebuanag opesyIpoN | sauoideldwy opeqoidy
sosaibg

‘wdeL:zo |ugisaidwi ap eioy

0202/ Mou/y0 [ A eyos4

0202/ unljog 1V 020zZ/19e/L0 124
eoneweiboud eliobajed Jod ojsen
aydsadwen ap opelsg
ayoaduwen ap opejs3 |op auodaq [ap olnyIsu|

0dsosaibgo)sandnsaidope)s3id. :day
Josiniadns tusn




